
PARTS LIST

DESCRIPTIONPART NUMBERQTYITEM

Case 2011 Magnum Undertruss20-120711

Side Tube 5 x 7 x 7220-1026R12

Side Tube 5 x 7 x 7220-1026L13

Saddle Conv. 20-180024

300 Saddle20-101125

400 Saddle20-101326

Step bottom Bracket30-190317

Step Handle 30-190218

Magnum Large Frame 5x7 Side Plate RH20-1419R19

Magnum Large Frame 5x7 Side Plate LH20-1419L110

1

1

2

2

A A

B B

Bolt List

QTY Description

Placement

12 20 mm x 60 mm Bolts Side Plate to Tractor

12 20 mm Harden Flatwashers

16

3/4 x 2 1/2 Bolts

Side Plates to Undertruss

20

3/4 x 2 1/2 Bolts Side plate to Tube

4

3/4 x 7 x 9 U Bolts

Conv to Tube

12

3/4 x 2 1/2 Bolts

Saddle to Conv

56

3/4 in Lock Washers

56

3/4 in Nuts

4

Nylon Straps

Tank to Saddle

2 3M Non-Skid Pads On Tubes

Front

Side Mount

Case IH

Magnum Large Frame

2011-2013

235, 260, 290, 315, 340

2014-Current

250, 280, 310, 340, 380, 400

*Limited to 63" diameter front tires.*

5 or 6

4

8

2

7
10

19

18.00

29.00

Price List
300 gal /Tanks $6,468.00 

400 gal w/Tanks $7,168.00

300 ID:  CS-MAGMX-1124-SMS-300R
400 ID:  CS-MAGMX-1124-SMS-400R




